
δy2 0.116 in=

δy2

Fmax2− L
3⋅

48 E⋅ I2⋅
3 a⋅
L

4 a⋅
L









3

−








⋅:=

Fmax2 1.647 10
3× lbf=Fmax2

σy I2⋅

a c2⋅
:=

4 x 4 x .188 BEAM:

δy1 0.155 in=

δy1

Fmax1− L
3⋅

48 E⋅ I1⋅
3 a⋅
L

4 a⋅
L









3

−








⋅:=

Fmax1 1.053 10
3× lbf=Fmax1

σy I1⋅

a c1⋅
:=

3 x 3 x .25 BEAM:

c2 2 in⋅:=c1 1.5 in⋅:=a
L

2
:=σy 30 10

3⋅ psi⋅:=

I2 6.59 in
4⋅:=I1 3.16 in

4⋅:=E 30 16
6⋅ psi⋅:=L 10 12⋅ in⋅:=

DEFLECTION OF A SIMPLY SUPPORTED BEAM WITH CONCENTRATED LOAD:


